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Use tabular integration to find the antiderivative.
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Use sepﬂrali o of variables to solve the mitial value I:-rnhlﬂu.
‘ J)y'=txyand v =3 whenx=1[
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Find the solution of the differential equatiop d}dl = ky, k aconstant, that satisfies the given conditions.
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Solve the problem.

i 5) Find the amount of ime required for a $13.000 investment tthe annual interest rate ris
5. % and interest is compounded ‘ound your answer to the nearest hundredth of a
Vear.
&) 189 .47 years o R ) 20280 years D) 1.89 years
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b) A bacterial culture hasan initial population of 10,000, [§its population dedines to 60001in
b hours, what will it be at the end of 8 hours? AssTME that the population decreases

according to the exponential model. <
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71 Howr long will it take a sample of radicactive substance to decats original

amount, if it decays according to the function A(t) = 350102t where t{sthe time in
years? ound your answer to the nearest hundredth year.
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Use Newton's Low of Coolingto solve the problem
8) & dish of lasagna baked at 250°F is taken out of the oven into a kitchen that is 6%°F. After 5
minutes, the temperature of the lasagna is 304.3°F. What will its temperature be 15 minutes
after it was taken out of the oven? kound your answer to the nearest degree.
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